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1. By ...ooovininnn agreement no one in the group talked about the controversial subject of
the war
(1) taciturn (2) tangential
(3) tenuous (4) tacit

2. After eating our lunch, we all lay ............. on the ground, looking at clouds.
(1) prone (2) supine
(3) stupefied (4) stultified

g, eeeeeeeneeee law can be used either to tyrannize the populace, denying them liberty, or
to protect their rights, enabling them to live as free citizens expressing their views and
doing as they wish. '
(1) Purportedly (2) Paradoxically
(3) Enigmatically (4) Felicitously

4. Countries with strong elements of communism have existed in history, but modern
communism formed in response to the risc of capitalism and industrialization, which
created a new class of people living and working in ... poverty of a type
.............. in history. e

(1) demotic, tangential
(2) complaisant, problematic
(3) abject, unprecedented

(4) nascent, sardonic

5. In Africa, the European colonial powers often imposed borders .............. and so
when colonies later achieved autonomy, they found themselves to be nations that were
.............. and thus difficult to govern due to .............. disputes.

(1) warily, defunct, international
(2) arbitrarily, heterogeneous, internecine
(3) equably, democratic, mundane

4) epherherally, indispensable, nugatory
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+6. I'm going to.ask for directions because I think We'VE «.oaraemeees

(1) missed (2) mistaken

(3) misplaced (4) lost

7. My brother and I .............. swimming almost every day last summer.

(1) went (2) had been going

(3) were going (4) had gone

8. Thereis .............. ‘coffec left, if anyone wants somc.
(1) few (2) a little
(3) afew (4) little
9. Theissue.............. question is more complex than you think.
(1) from (2) in
(3) on (4) at
10.  YOU MUSE «eveeerreennn. thrilled when the doctor said it wasn't serious.
(1) be (2) have been
(3) be having (4) have been being
11. Nobody has any firm information, so we can only .............. on what caused the
accident.
(1) guess (2) speculate
(3) assume . ; (4) contemplate
| 12. Where's that ............ .. dress that your grandma gave you.

(1) lovely, long, pink, silk
(2) lovely, pink, long, silk
(3) pink, long, lovely, silk
(4) long, pink, silk, lovely
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14.

15.

16.

17.

18.

3

It is one of the worst books I've ever read. Its only redeeming ........... ... is that it'is
quite short. i 54 -

(1) aspect (2) factor (3) feature (4) eclement

The competitive ethic is pernicious .............. one's moral development.

(1) to (2) for (3) in (4) with

When she first came to France from Bulgaria, she was hardly the .............. student

she later made herself out to be, since she had access to considerable family wealth.

(1) impecunious (2) naive
(3) precocious ' ) (4) ambitious
Britain is attractive to worldwide advertisers because it 1S .............. market, so there

is no need to tailor advertisements for different parts of the country.
(1) a global (2) an immense

(3) a homogeneous (4) avast

After people began to make the transition from gathering food to producing food,
human societies followed markedly .............. courses; some adopted herding, others
took to tillage and still others stuck to foraging.

(1) divergent (2) rural (3) quotidian (4) unfamiliar
Like ants, termites have an elaborate social structure in which a few individuals

reproduce and the rest are serving the colony by tending juveniles, gathering food,
building the nest, they battle intruders.

(1) are serving the colony in the they tend juveniles, gather food, build the nest, or
battle

(2) serve the colony, tending juveniles, gathering food, building the nest, or by
battling. :

(3) serve the colony by tending juvcniles, gathering food, Building the nest, or battling

(4) serve the colony by tending juveniles, gathering food, by building the nest, or by
battling '
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19. NIA panel propose expanding a national computerized file to permit lay.
igation but have not beep,

enforcement agencies to track people under criminal investigation but
charged.

(1) who are under criminal investigation but
(2) who are under criminal investigation, but thcy
(3) under criminal investigation, but who

(4) under criminal investigation, but they
Choose the one which best expresses the meaning of the given word.

20. Decrepit
(1) annoyed (2) frail
(3) bright (4) wasteful

21. Insouciance
(1) damage (2) remorse

(3) indifference (4) furlough

Choose the one which is opposite in meaning to the given word.

22. Scrawny
(1) emaciated (2) effervescent
(3) lanky (4) trickster
23. Vapid
(1) frantic (2) harsh
(3) historical (4) fresh
24. Because Paris is expensive, many organisations pay higher salaries to ... .......... for
the high cost of living there.
(1) redress (2) adjust -
(3) compensate . (4) None
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25.

Although he was very bad-tempered, .............. everybody liked him.
(1) before (2) but
(3) so ’ (4) None

Quantitative Techniques and Data Interpretation (Q. No. 26-50).

Directions (26-27) : What will come in the place of question mark (?) in the following
number series.

26.

27.

28.

3,43, 81, 115, 143,7
(1) 160 2) 172
3) 166 (4) 163

50, 54, 45, 61, 36, ?

(1) 66 2) 72

@3) 75 (4) 80

If the sum of upstream and downstream speed is 36 km/hr and the speed of the current
is 3 km/hr. Then find time taken to cover 52.5 km in downward ?

(1) 2hr (2) 3hr

(3) 2.5hr (4) 3.5hr

Directions (29-32) : Calculate the exact value of the ’x’ in the given following questions.

29.

30.

6x16x5 +3-x=96
19 (2) 7
(3) 8 4) 6

282 — x> =73 +225
(1) 4 (2) 8

(3) 6 4) 7
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31.

32.

33.

34.

35.

36.
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208~ 132-23=xx11 |
(1) 51 (2) 21
G5y 41 @) 11
1836 +x+9=12
OF @ 17 g
(3) 13 (4) 11 |

The difference between Circumference of circl

Circle B is 7 cm less than circle A, then find area of Circle B ?
(1) 532 em® (2) 556 cm”
(3) 588 cm® (4) 616 cm’

There are 40 children in a class in which boys are 4 more than the girls. Average

weight of all the students is 42.5 kg and the average weight of all the girls is 48 kg,

then find the average weight of all the boys.

(1) 36.75kg - (2) 38 kg
(3) 40.5kg (4) 39.5 kg

If 7 marks are awarded to right answer and 4 marks are penalty for wrong answer.

Then Rajinder's score was 263. If he attempted 58 questions, then find number of

correctly attempted questions ?

(1) 40 (2) 42
(3) 48 : 4 45
Ratio of speed of boat in down stream and speed of streamis 9 : 1, if speed of SUrrentis
3 km per hr, then find distance travelled (in km) upstream in 5 hours.
(1) 90 @105

(3) 110 (4) 120

e A and diameter is 90 cm. If Radius of |-
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Directions (37-40) : Given below is the table that shows the number of books-sold from five

~ stores on five days. Study the table carefully to answer the questions. .
r Stores Sunday Monday Tucsdéy | Wednesday | Thursday
A 77 80 49 93 58
B 89 57 55 | 85 54
C 56 36 82 90 40
D 68 74 78 70 95
E 82 65 90 86 84

37.

(1) 162
(3) 150

38.

together.
(1) 13:11
(3) 13:15

30.
(1) 59
3) 65

- 40.
E on Thursday ?
(1) 82

(3) 85

TYMOBA-EE-2022/ (SET-Y)/(A)

(2) 158
(4) 160

) 11:15
4) 11:13

2) 61
4) 60

(2)' 80
(4) 88

Number of books sold on Friday from stores C and D increased by 15% and 2
respectively as compared to that sold on previous day. What number of books the

stores C & D sold on Friday ?

0%

What is the ratio of total number of books sold from store D on Sunday, Monday and
Tuesday together to that sold from store E on Tuesday, Wednesday and Thursday

Find the difference in total number of books sold from stores C and E togcther on
Tuesday and from store B on Monday and Thursday together.

What is the average number of books sold from stores B on Sunday, C on Tuesday and

HPOT:O.



g Questlons i
r the followlng .
Directions (41-45) : Study the table given belngfi‘!i-;/ o tale T HR
: Joyee 10 ‘
Compary |  Toulemployee | B0 roment SRR
S 75 4
| 80 P d——— |
A 300 I e 20
50 |
B 250
] 60
100 IR
C 400
60
D 200 60 |
| ind the approximate

41.

42,

43.

45.

i 42. Fi
The sum of four times of an amount x’ and (x — 9.75) is Rs. 4

value of x.

(1) Rs. 85 (2) Rs. 90

(3) Rs. 100 (4) Rs. 1,100

Find the average number of Females in HR department together.
(1) 54 (2) 46

(3) 49 | 4) 50

Find the difference between males of HR dept. in company C and D together and
females of HR dept. in company B and C together.

SV @) 40

Females in the HR department of company C 1s what % more than male in HR
department of company A ?

(1) 250% | (2) 200%

{3) 100% ‘ (4) 300%

Find the average no. of employee other than HR dept. in A, B and C togeth

0 ether.
(1) 280 (2) 270 g
(3) 220 (4) 240

‘TYMOBA-EE-2022/ (SET-Y)/(A)
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'46. A started a businéss by investing Rs. 50,000. After 6 months B joined him by irive:vﬁting
Rs. 75,000. After andthcr 6 months C joined with Rs. 1,25,000, What is the ratio Qf
profit shared after 2 years among A, B and C ?

2) 8:9:12

(1) 4:5 L6
(4) None of these

(3) 8:9:10
A invests Rs. 12,000 for X months while B invests Rs. 16,000 for 9 months in a

47.
scheme. The profit share of B is Rs. 12,000 out of total profit Rs. 21,000. Then find the
~ valueof X' 7 :
(1) 6 months (2) 7 months
(3) 8 months (4) 9 months -

per annurﬁ is Rs. 225 less them

48. The simple interest on a certain sum for 2 yéars at 8%
% per annum. The sum is:

the compound interest on the same sum for 2 years at 10

(1) Rs. 4,500 (2) Rs. 4,200

(3) Rs. 4,000 (4) Rs. 3,200

49. A person can row with the stream at 8 km per hour and against the stream at 6 km an

hour. The speed of the current is :
(1) 4 km/h (2) 2km/h
(3) 1 km/h '(4) None of these
50. - A sum is invested for 3 years at compound interest at 5%, 10% and 20% respectively. -
© In three years, if the sum amounts to Rs. 16,632, then find the sum.:
(1) Rs. 13,000 (2) Rs. 12,000
(3) Rs. 11,000 - (4) None of these
51. Two prdpositiohs are relate;d in such a way that these éénnot be true together or false

| together, these arc known as :

(1) Contraries -

~ (2) Sub-contraries

" (3) Contradictories
R 4) Subéalte;mations_ R
TYMOBA-EE-2022/ (SET-Y)/(A) P.T.O.
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52

- 983.

54.

' 55,

" 56,

e:
~ together but cannot be false together. The statements ar

..h of the following

en which ol T gs
If the proposition 'All Mangoes are vegetable is false, th o

. goes are vegeta

4) Some mangoes are not_yegetablg .

propositions must be ture ? | : ble_
. _ o

(1) No mango is vegetable - (2) Some m

3) All vegetables are mango '

) ° these can be true

: a Way that,
Out of the followmg statements, two are related in such |

, e attentive
(i) Men are never attentive © (ii) All men are = fve
A%
; N Q ' re not eattentive
(iii) Some men are attentive (iv) Some m‘en é

Select the correct code :

2) (i) and (iii)

(1) (i) and (ii)
(4) (iii) and (1v)

(3) (ii) and (111)
Aruna ranks twelfth in a class of forty six. What W111 be her rank from the last ? |
(2) 34 '
(4) 37

(1) 33
3) 35
Select the correct conclusion for the given premises :
Premises : |

(i) All religious persons are emotional

(ii) Ram is a religious person

Conclusion :

(1). Ram is emotional i - (2) All emotional persons. are religious

(3) Ramisnota non-religious person (4) Some rellglons persons are not emotional :

B is to the east of C, A is to be north ofC D 1s to the w |
est :
A. Where is E with respect to D? of C apd e to‘ e wgst Of.

(1) Noth ) NOrth-West

. (3) North-Eas.t - e gl (4) Cannot be determineq

TYMOBA-EE-2022/ (SET-Y)/(A)



57.

58.
59.
60.

61.

11
M is married to S. P'is a brother of H. S is a mother of L, who is a brother of H. How.i”s _
H related to M? | o |
(1) Sister e ' "-(2) Brother |
(3) Son o ARSI -4 Cannot be determined

Horlzontally arranged elements in a matrix is called :

(1) Columns . "~ (2) Rows

(3) Determinants RN ] (4) Transpose

If A is a matrix of order (m-by-n) then a matrix (n-by-m) obtamed by mterchangmg
rows and columns of A is called the :

(1) Additive invesrse of A ¢ Transpose_of A

(3) Determinant of A e (4) Order of A

What will come next ? |
8,20, 36, 56, .......

(1) 80 ' (2) 100 ()64 @) 84

What will:come next ?

11,33,55,77, e,

(1) 99 - o (2) 88, 7 (3) 121 . o (4) 101

62..

Seven friends O, P, Q,R, S, T and U are watching a movie sitting in a row. S is sitting
at one extreme end. Q is sitting second to the right of S. P is sitting between O and Q.
U is not sitting at any extreme end. O is not at any extreme end R is sitting immediate

left of T. Who is sitting in the mlddle ?

MR- T dQ

B R J 4) U

63.

- TYMOBA-EE-2022/ (SET-Y)/(A)

Find the odd letters/word from the given alternatives :

‘(1) Swimming © (2 Sailing

() Diving '~ (4) Driving
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. 64.

65.

66.

| Find the odd number from the given alternative ' (4) 4 2'7 0
(1) 5720 @ 6710 () 2640
Matrix s :

67.
- 68.

69.

- (1) VARUNA

- 70.

" “Event B : Puncet's parents had been running ill for a long time.

“Find the-odd letters/word from the given

| (1) Discernment

(1) Rc;uting " (2) Scheduling .

I Paisa : Rupee : : ? : Kilometer .

(1) Metre © '(2).H'ectometre ) Quintal‘

‘Without any *other assumptlons and based only on the 1nformat10n below assess th

(3) Event A is the effect and event B is not immediate and major
cause
(4) EventBis the effect and event Ais not the 1mmed1ate and ma :
= _]01' cause.. ;

TYMOBA—EE-2022/ (SET Y)/(A)
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alternative =
(2) Perception

i jon
(3)- Penetration 4) Insmnatl

(D) A real number
2) Either a real or a complex number

Qi .ctangular arra
(3) An arrangement of mn numbers, over the given set S, in a rectanguie y of

- rows and n Columns

4) Same as determinant

Sequencing is a subset of : - ’ |
(3) Expediting (4) None of these

4) Decemetre

Select the optinn that is related to the third term in the same way as the second term
related to the first term. : I
Singapore : SIMBEX i France :?7 -

() INDRA  (3) KONKAN = (4) SLINEX

true nature of the relationship between both Event A and Event B.
Event A : Sara went to meet her parents at her friend Puneet's house

( 1) ‘Event A is the effect and event B is the immediate and major cause.
(2) Event B is the effect and event A is the immediate and major ca
use.
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7. Kitty is the wife of Raman. Dev i is the only brother of Kitty. If Dolly is the daugthl' of
Kitty, how is Dev related to Dolly ? )
(1) Father (2) Matcrnal Uncle

(3) Paternal Uncle (4) Grandfather
72. If X has two sister - Y and 7, and W's mother is the sister of Y's father, then W is Z's ?
(1) Sister — (2) Aunt
(3) Cousin (4) Brother
73. Which one does not belong to the group ? _
(1) Salt ' (2) Black pepper
(3) Chilli (4) Jira

74. Find the odd number/letters from the given alternatives :

(1) PQXZ (2) CQBN
(3) ABDF (4) PRMN

75. In a certain code language 'KEYBOARD' is written as 'TMGADQCT'. How will be
"TOUCHPAD' written in that code language ?

(1) FUQEBSIR (2) FVQWEJSB
(3) FVQWEJRC (4) FVQWEJBS

76. The Parliamentary system of Government of India is based on the pattern of
Parliamentary Government in :

(1) Great Britain (2) USA

3) 'France' : (4) Canada

AR GIHX H GEET HGEAT 36 o7 B GOET JOel g3 e ©
(1) o= foreq F i ~ (2) o TWHo Wo

(3) wE ' , (4) ATST

TYMOBA-EE-2022/ (SET-Y)/(A) {¥-T | P.T.O.



_to-eat meals ?
77... Which company has launched 'Aashirvad brand of ready-to=

(2) Nestle
(4) ITC Foods

(1) Britannia

(3) HLL
mmﬁ@ﬁ%WWwwﬁﬂmlwgﬁaﬁ,mm%?
(1) Befrr (2) AT

(3) T w o (4) omg & FEH

! . i oetry ?
78. Apart from Urdu, in which another language has Mirza Ghalib written p ry

(1) Bengali (2) Persian
(3) Hindi (4) Kashmiri
Wmﬁaﬁ@%maﬂ?%ﬂwﬁsm‘&%@%?
(1) st (2) IR
(3) & - (4) HHT

79. What was the original name of Tansen ?
(1) Seetaraam Mishra (2) Gopal Sharma
(3) Ramtanu Pandey (4) Jagannath Mishra
qME T ar&diash A9 1 a1 7
(1) diqras e (2) MUTA T
(3) TG wre (4) ST vy

80. The famous antiseptic 'Dettol' is a brand owned by :
(1) Reckitt Benkeiser : (2) Godrej Sara Iee
(3) Procter and Gamble (4) Hindustan Unilevero carth
m‘iﬁ@mm‘ﬁa'ﬁwmqﬂ%?. |
ORI CEN (2) M |y o
(3) Ufgex de Fed (4) fegzary R -
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i 81 _The layer of atmosphere close to earth's surface is known as :

t
(1) Stratosphere (2) Troposphere

(4) Exosphere

qAEReT W Y= N G B Frepe Req 9 F B G B
(1) Fad9HSS

(3) Ionosphere

(2) arqHsA
(3) HATTHSH (4) afede
82. What was the name of Gautama Buddha, As prince of Kapilavastu ?
(1) Devadatta (2) Ananda
(3) Rahula (4) Siddhartha
HIUTIE] b A & w9 F MNaq ggo &0 =1 719 491 7
(1) Zaex ) eTe
(3) T (4) Tegam
- 83. Who is the Executive head of a State ?
(1) The Governor (2) The Chief Minister
(3) The President (4) The Speaker
T 5T H HEBA Y@ DA Bl B 7
(1) ToIarT (2) T
(3) Trsgafd (4) A=T&E
84. Indian Railways is divided into how many zones ?
(1) 14 (2) 16
3) 12 4) 18
e Yoy feay et § der g3 w7
(1) 14 . (2) 16
3) 12 4) 18

- TYMOBA-EE-2022/ (SET-Y)/(A) - P.T.O.
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85. In India the first television programme was broadcast in :
(1) 1959 (2) 1965
(3) 1976 (4) 1957
HRd F ggen ehfasr HEdwT qeia g
(1) 1959 % ) 1965
(3) 1976 # (4) 1957 #

86. The creator of 'Sherlock Holmes' was :

(1) Arthur Canan Doyle (2) lan Fleming

(3) Dr. Watson (4) Shakespearc

‘grelep Br’ & =iaar ¥ ¢
(1) MR =+ Saa
(3) Sfo gEad

(2) g TAFT
O EIESIERES

87. 'Bihu' dance is associated with which State ?

(1) Asam (2) Himachal Pradesh

(3) Nagaland (4) Orissa

‘ﬁg’ﬁmmﬁaﬁ%%?
(1) =T EH (2) ferrae "W

(3) AATTS (4) IS

88. Who built the city of Chandigarh ?

(1) Martin Luther (2) Le Courbusier

(3) Herbart Backer (4) Henri Irwin

e ye] feeR =T o e
(1) e e} (2) 7 WHigsmsR
(3) BXEE MR | 4) T8 =fam

TYMOBA-EE-2022/ (SET-Y)/(A)
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. : 89 "Din-I-Ilahi" was the new religion started by :

(1) Jahangir (2) Babur

(3) Akbar (4) Shaha Jahan
C-T-5A8 A9 & F4T o Rpey =emn ?

(1) SBriR (2) &}

(3) STHIX (4) ESTEl

90. W_hich is the largest gland in the human body ?

(1) Pancreas (2) Liver

(3) Spleen (4) Intestine

AT SRR # 999 991 1fYy HA-d1 et 8 7

(1) Yferarst 2) R

- (3) faeeh 4) o

91. What is the sacred language of the Buddhists ?

(1) Bhoti (2) Prakrit

(3) Sanskrit (4) Pali

eyt @ R W - E 7

(1) s (2) "

(3) &P (4) T
92. How many chromosomes does a normal human being have ?

(1) 48 : (2) 52

(3) 46 @R

& e T A R o e g 2

(1) 48 | (@52

(3) 46 (4) 32

-TYMOBA-EE-zozz/ (SET-Y)/(A) (ANY-THE) \SE0L- AT AR GHO Y
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93. Who composed the tune to "Twinkle, Twinkle, Little Star" ?

(1) Mozart - (2) Becthoven

(3) A.R. Rehman (4) Pink Floyd

‘gﬁfﬁgﬁw%ﬁaw’iﬁﬁzﬁrﬁmﬁmm?
(1) Arre (2) faea
(3) Wo &Ro TEHH (4) [ IS

94. What was the first 3-D colour movie ?

(1) The Last Buffalo  (2) Imagine

(3) Bwana Devil (4)Wings of Courage
geell 3-D 9 e -d1 ot ?

(1) & SR el (2) AR

(3) =T Sfaw (4) fE aff ot

95. What is the motto of BBC ?

(1) 'National shall speak peace unto nation'
(2) 'State shall speak peace on to State'

| (3) '"We speak nation to nation'
(4) None of these
Y &t & S oTEel A T T 7
(1) A9 A &ieh 4 Sig A9’
(2) ‘e I T G i T '
3) @t = A T A9

4) 79 | 3g &
96. By which name is river Ganga known in Bangladesh ?
(1) Padma (2) Sambha
(3) Ganga  (4) Alaknanda

- TYMOBA-EE-2022/ (SET-Y)/(A)
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T AN B gEaRe § e AW SEr S ¥ 20
(1) 97T . (2) @rs

97. Name the state to which "The Great Khali" belongs to ?

(1) Haryana (2) Himachal Pradesh |
(3) Uttrakhand , ‘ -+ (4) Punjab

“g e T Beg T TERa 7

(1) =famn ORISR

(3) STIUETE : () 99"

98. Who wrote the famous song "Ay Mere Watan ke Logo" ?

(1) Neeraj (2) Kaifi Azmi
(3) Majruh Sultanpuri (4) Pradeep
Ay Mg Y A go= & ant fea ke @ 7
(1) et (2) @ sl
(3) AoTEE gyl (4) T&9

99. One of the following is not a function of Reserve Bank of India :
(1) Issuing Currency Notes

(2) Formulating Monetary Policy

(3) Exercising Control over all Banks in India

(4) Lending Money to Exporters

(3) wrea & |l et ax FrEET W

(4 Frafaet @ Yar SaT e

TYMOBA- E-2022/ (SET-Y)/(A) P.T.O."
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100. Which among the following is the full form of FDI in Indian Econo
(1) Foreign Depository Investors

(2) Foreign Departmental Investors

(3) Foreign Direct Investment

(4) Foreign Development Investment
P & @ it s & qwo do oo @ ot & FE
(1) RF fEafed s<wd

(2) BRA fBurddeq sawd

(3) BRA SR FAwHT

(4) BRA Sgagde g==HAT

TYMOBA-EE-2022/ (SET-v)/(A)
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‘1.  Two propositions are related in such a way that these cannot be true together or false

together, these arc known as :
(1) Contraries
(2) Sub-contraries
(3)'. Contradictories
- (4) Sub-alternations

2. If the proposition 'All Mangoes are vegetable' is false, then which of the following
propositions must be ture ?
(1) No mango is vegetable (2) Some mangoes are vegetable

(3) All vegetables are mango (4) Some mangoes are not vegetable

3. Out of the following statements, two are related in such a way that, these can be true
together but cannot be false together. The statements are :

(i) Men are never attentive (i) All men are attentive
(iii) Some men are attentive (iv) Some men are not eattentive

Select the correct code :

(1) (i) and (ii) (2) (i) and (iii) !
(3) (ii) and (iii) (4) (iii) and (iv) |
4. Aruna ranks twelfth in a class of forty six. What will be her rank from the last ?
(1) 33 (2) 34
(3) 35 4) 37

5. Select the correct conclusion for the given premises :
Premises :
(i) All religious persons are emotional
(i) Ram is a religious person
Conclusion :

(1) Ram is emotional (2) All emotional persons are religious

(3) Ram is not a non-religiops person  (4) Some religions persons are not emotional

'TYMOBA-EE-2022/ (SET-Y)/(B) e




‘ . \ E is to the west o
6. Bis to the east of C, A is to be north of C, D is tothe west of C and t

A. Where is E with respect to D ?

(1) North (2) North-West
(3) North-East (4) Cannot be determined
7. Mis married to S. P is a brother of H. § is a mother of L, who is @ brother of H. How i
H related to M ?
(1) Sister (2) Brother
(3) Son (4) Cannot be determined

8. Horizontally arranged elements in a matrix is called :
(1) Columns (2) Rows
(3) Determinants (4) Transpose

9. If A is a matrix of order (m-by-n) then a matrix (n-by-m) obtained by interchanging
rows and columns of A is called the :

(1) Additive invesrse of A (2) Transpose of A
(3) Determinant of A (4) Order of A

10. What will come next ?
8,420, 36, 56, .......
(1) 80 (2) 100 (3) 64 4) 84

11. What will come next ?
11,33,55,77, ..........
(1) 99 (2) 88 (3) 121 4) 101

12. Seven friends O, P, Q, R, S, T and U are watching a movic sitting in a row. § is sitting
at one extreme end. Q is sitting second to the right of S. P is sitting between O and Q.

U is not sitting at any extreme end. O is not at any extreme end. R js sitting immediate
left of T. Who is sitting in the middle ?

MR | @ Q
@) P @u
TYMOBA-EE-2022/ (SET-Y)/(B)
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14.

15.

16.

17.

18.

19.

TYMOBA-EE-2022/ (SET-Y)/(B)

Find the odd letters/word from the given alternatives :
(1) Swimming | " (2) Sailing
(3) Diving | (4) Driving

Find the odd letters/word from the given alternative :
(1) Discernment (2) Perception

(3) Penetration (4) Insinuation

Find the odd number from the given alternative :

(1) 5720 (2) 6710 (3) 2640 (4) 4270
Matrix is :

(1) A real number

(2) Either a real or a complex number

(3) An arrangement of mn numbers, over the given set S, in a rectangular array of m
rows and n Columns

(4) Same as determinant

Sequencing is a subset of :

(1) Routing ~ (2) Scheduling
(3) Expediting - (4) None of these
If Paisa : Rupee : : ? : Kilometer

(1) Metre (2) Hectometre
(3) Quintal (4) Decametre

Select the option that is related to the third term in the same way as the second term is
related to the first term.

| Singapore : SIMBEX :: France : ?

(1) VARUNA (2) INDRA
(3) KONKAN 1 (4) SLINEX

L APUTIOS



4.
‘V ¢ information below, asscss the

20. Without any other assumptions and based only on th e
true nature of the relationship between both Event A and Event b.

Event A : Sara went to meet her‘parents at her friend Puneet's. house.
Event B : Puneet's parents had been running ill for a long time.

(1) Event A is the effect and cvent B is the immediate and major causc.
(2) Event B is the effect and event A is the immediate and major causc.
(3) Event A is the effect and'event B is not immediate and major causc.

(4) Event B is the effect and event A is not the immediate and major causc

21. Kitty is the wife of Raman. Dev is the only brother of Kitty. If Dolly is the daughter of
Kitty, how is Dev related to Dolly ?

(1) Father (2) Maternal Uncle

(3) Paternal Uncle (4) Grandfather

22. If X has two sister - Y and Z, and W's mother is the sister of Y's father, then W is Z's ?

(1) Sister (2) Aunt
(3) Cousin (4) Brother
23. Which one does not belong to the group ? - .
(1) Salt (2) Black pepper
(3) Chilli (4) Jira

24. Find the odd number/letters from the given alternatives
(1) PQXZ . (2) CQBN
(3) ABDF | . (4 PRMN
25 In a certain code language 'KEYBOARD' is written as FMGADQCT'. How will be
"TOUCHPAD' written in that code language ?
(1) FUQEBSJR " (2) FVQWEJSB
(3) FVQWEIRC ~ (4 FVQWEJIBS

TYMOBA-EE-2022/ (SET-Y)/(B)
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26. By ..cooaeiniene agreement no one in the group talked about the controversial subject of

(1) taciturn (2) tangential

(3) tenuous (4) tacit

27. After eating our lunch, we all lay .............. on the ground, looking at clouds.
(1) prone (2) supine
(3) stupefied (4) stultified

0B, e _law can be used either to tyrannize the populace, denying them liberty, or
ing their views and

to protect their rights, enabling them to live as free citizens expressi

doing as they wish.

(1) Purportedly (2) Paradoxically

(3) Enigmatically (4) Felicitously

sm have existed in history, but modern
f capitalism and industrialization, which
poverty of a type

29. Countries with strong elements of communi
communism formed in response to the rise o
created a new class of people living and working in  .........eeees

.............. in history.

(1) demotic, tangential

(2) complaisant, problematic
(3) abject, unprecedented

(4) nascent, sardonic

30. In Affica, the European colonial powers often imposed borders .............. and so
when colonies later achieved autonomy, they found themselves to be nations that were

and thus difficult to govern due to .............. disputes.

(1) warily, defunct, international
(2) arbitrarily, heterogeneous, internecine
(3) equably, democratic, mundane

(4) ephemerally, indispensable, nugatory

.. TYMOBA-EE-2022/ (SET-Y)/(B) ' : ; @ - P TO
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-31.. - I'm going to ask for directions because I think We've ..........-- our way.
(1) missed (2) mistaken
(3) misplaced | () lost

32. My brotherandI.............. swimming almost every day last summer.
(1) went | (2) had been going
(3) were going ' (4) had gone

- 33. Thereis .............. coffee left, if anyone wants some.

(1) few (2) alittle
(3) afew , 4) little

34. Theissue .............. question is more complex than you think.
(1) from (2) in
(3) on (4) at

35. Youmust.............. thrilled when the doctor said it wasn't serious.
(1) be (2) have been
(3) be having (4) have been being

36. Nobody has any firm information, so we can only .............. on what caused the
accident. |
(1) guess (2) speculate

- (3) assume ' (4) contemplate
37. Where's that .............. dress that your grandma gave you.

(1) Tovely, long, pink, silk
(2) lovely, pink, long, silk
(3) pink, long, lovely, silk
" (4) long, pink, silk, lovely

. TYMOBA-EE-2022/ (SET-Y)/(B)
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38. It is one of the worst books I've ever read. Its only redeeming ........cooou is that it:is
quite short.
(1) aspect (2) factor (3) feature (4) element

39. The competitive ethic is pernicious .............. one's moral development.
(1) to (2) for (3) in (4) with

40. When she first came to France from Bulgaria, she was hardly the .......o...oe. student

she later made herself out to be, since she had access to considerable family wealth.

(1) impecunious (2) naive
(3) precocious (4) ambitious
41. Britain is attractive to worldwide advertisers because it is ..........eee. market, so there

is no need to tailor advertisements for different parts of the country.
(1) a global (2) an immense

(3) a homogeneous (4) a vast

42. After people began to make the transition from gathering food to producing food,
human societies followed markedly .............. “courses; some adopted herding, others
took to tillage and still others stuck to foraging.

(1) divergent (2) rural (3) quotidian (4) unfamiliar

43. Like ants, termites have an elaborate social structure in which a few individuals
reproduce and the rest are servine the colony by tending juveniles, gathering food,

building the nest. they battle intruders.

(1) are serving the colony in the they tend juveniles, gather food, build the nest, or
battle
(2) serve the colony, tending juveniles, gathering food, building the nest, or by

battling.

(3) serve the colony by tending juveniles, gathering food, building the nest, or battling

(4) serve the colony by tending juveniles, gathering food, by building the nest, or by
battling

TYMOBA-EE-2022/ (SET-Y)/(B) | 2T ) ! “P.T.O.
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44. NIA panel propose expanding a national computerized file to permit law

a1 3 icat have not been
enforcement agencies to track people under criminal investigation but

charged.

(1) who are under criminal investigation but

(2) who are under criminal investigation, but they
(3) under criminal investigation, but who

(4) under criminal investigation, but they
Choose the one which best expresses the meaning of the given word.

45. Decrepit
(1) annoyed (2) frail
(3) bright (4) wasteful

46. Insouciance
| (1) damage (2) remorse

(3) indifference (4) furlough

Choose the one which is opposite in meaning to the given word.

47. Scrawny
(1) emaciated (2) effervescent
(3) lanky (4) trickster
48. Vapid
(1) frantic (2) harsh
(3) historical (4) fresh
49. Because Paris is expensive, many organisations pay higher salaries to ... _ for
the high cost of living there. '
(1) ‘redress : (2) adjust
(3) compensate (4) None

TYMOBA-EE-2022/ (SET-Y)/(B)




A '5_°f. AlthOUgh he was very bad-tempered, ............. everybody liked him.
(1) before (2) but (3) s0 (4) Nonc

51. The Parliamentary system of Government of India is based on the pattern of
Parliamentary Government in :

(1) GreatBritain  (2) USA - (3) France (4) Canada

mawaﬁrwaawensv%maﬁmﬂawnﬁﬂweﬂmfmﬁ-

() I /A (2) o THo Wo  (3) WA (4) FHTET
52, Which compaﬁy has ‘]aunch‘cd 'Aashirvad' brand of ready-to-cat mcals ?
(1) Brftannia (2) Nestle
(3) HLL | ' (4) ITC Foods
mmaaﬁ%mﬁm@@mwm@‘aﬂsﬂah’aﬁaﬁﬁm%?
(1) R - @)
@ @) oTE B W g
53. Apart from Urdu, in whicﬁ another language has Mirza Ghalib written poetry ?
(1) Bengali : : (2) Persian
(3) Hindi . ' (4) Kashmiri
'Wmﬁfﬁ%eﬁ%maﬂ?ﬁmwﬁﬁmm% ?
() SR () e .
e @w
54, What was the or1g1na1 name of Tansen ? .
:(1) Seetaraam Mlshra L . (2) Gopal Sharma
; 3) Ramtanu Pandey o ~ (4) Jagannath Mishra
’-__-mﬂﬁ'vrasramaﬁﬁsamwm?; |
Q) e a0 () e o
@mEgwE (@) S fs

TYMOBA-EE-ZOZZ/ (SET- Y)/(B) g, TR | ~ PT.O.
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55. The famous antiseptic 'Dettol' is a prand owned by
‘ (2) Godrej Sara Lee

(1) Reckitt Benkeiser
. (4) Hmdustan Umlevero earth

(3) Procter and Gamble

gfrs dRdfes e S Wamﬁzsr%?
(1) e dPET (2):ﬁaivf"erm’c‘fﬁ

(3) ST g Haw (4) Riger afiEad s

56. The layer of atmosphcre close to earth's surfacc is knowrl as :

(1) Stratosphere (2) Troposphere

(3) Ionosphere 4) Exosphére

e gl @ we B Frbe R a8 S e I ¥

(1) TFamTHsa ~ - (2) sheriEe
(3) sETHS (@) sfedsw
57. - What was the name of Gautama Buddha, As prince 6f Kapilavastu ?

(1) Devgdatta _ - @ Ananda
(3) Rahula (4 Siddhartha
HRITAEG F AN B T H N gL H1oFT AT o7 ?
‘(1) aa?ﬁr. (2) TH |
OR | - (@) Toged

| 58. Whois the Executive head of a State ?
(1) The Governor | (2) The Chief Minister
(3) The President' (4) The Speaker
TH T P HERR Q- D ey § ?
(1) Tr=ogrer : (2) TR

) T N O 1)

- TYMOBA-EE-2022/ (SET-Y)/(B)



59_ Indian Railways is divided into how many zones ?
(1) 14 |

() 16
(3) 12 (4) 18
MUGIEIRGE] fc“b—cﬁf ésﬁ ¥ ger gorr B ?
- () 14 | (2) 16
(3) 12 - | e C (4) 18
60 In India the first television pfogramme waé b.foadcast in:
(1) 1959 @ 1965
(3) 1976 - - | (4) 1957 .
T vee 2R B SR 5o -
(1) 1959% (21965 F
(3) 1976 | (4) 1957

61, The creator of 'Sherlock Holmes' was :

(1) Arthur Canan Doyle @) IanFleming
. (3) Dr. Watson (4 Shakespeare
B e o N
) omeR & Sw - @) T R
_,‘.(3)3*06'@:{ S o @) R
- 62, ."Blhu dance is assomated w1th whlch State ? :

' (1) Asam Ty ; (2) H1macha1 Pradesh
v(3‘) Nagaland - b1 " (4) Orlssa '
,.f%@amf%wwéwfixa%? | g

(1) e/ - () e wRer
GamE o @S
- TYMOBA-EE-2022/ SET-YY®) . . P.T.O.
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63. Who built the city of Chandigarh 7,

64.

(1) Martin Luther (2) Le Courbusier

-(3) Herbart Backer _i | (4)' Henri Irwirl
< e RRE S o ? | N
(1) T @R ) @ ﬂg‘aﬁ
(3) & T (@) & s‘cﬁﬁ
"Din-I-Ilahi" was the new rehglon started by :
() Jahanglr. e (2) Babur

- (3) Akbar | (4) Shaha Jahan

‘Eﬂ'vr'lsalé‘r amemwaﬁﬁwﬁaam?

() R () TR

5.

66.

(3) FTRsT o 4 SIESE

Which is the largest gland in the human body ?

(1) Pancreas | (2) leer
‘ (3) Spleen . (4) Intestine
‘Wsﬁﬁmaﬁﬂfﬁiﬁﬂ%ﬁ@?ﬁ%?
(1) Usparst | - () R
GR® 0 @ew
What is the sacred language of the Buddhisté 9%
(1) Bhoti | ©(2) Prakrit
(3) Sanskrit BN (4) Pali
it 1 e s ¥o
o @ wm
Gw @) e

TYMOBA-EE-2022/ (SET-Y)/(B)
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67.

69.

70.

How m
any chromosomes does a normal human being have ?

(1) 48 @5 (3) 46 4) 32
Th A JHe R o B ¥ 7
(1) 48 () 52 (3) 46 (4) 32

Who composed the tune to "TWinkle, Twinkle, Little Star" ?

.y
(1) Mozart (2) Beethoven

(3) A.R. Rehman (4) Pink Floyd
IR i fifew wer Wi @ Ree dfas R ?
(1) e (2) faees

(3) To 3o AW S (4) U wWige
What was the first 3-D colour movie ?

(1) The Last Buffalo (2) Imagine

(3) Bwana Devil (4)Wings of Courage
gest 3-D T fbey -t & ?

(1) & Te Toat (2) AR

(3) =T ShRw (4) fg oI+
What is the motto of BBC ?

(1) 'National shall speak peace unto nation'
(2) 'State shall speak peace on to State'

(3) 'We speak nation to nation'

(4) None of these

R G A P oEet AR TR ?

(1) Qe AT w99 g A’
@) ‘®e I v 9w I ¢ '

() @ & A3 T AW

@) T | FE T

 TYMOBA-EE-2022/ (SET-Y)/(B)
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71. By which name is river Ganga known 1n Banglades
(1) Padma (2) Sambha.
(3) Ganga 4) Alaknanda
?
T A Y SR & Reg A @ ST S ©
(1) e Q) ars
(3) T (4) TR
72. Name the state to which "The Great Khali" belongs to ?

(1) Haryana (2) Himachal Pradesh

(3) Uttrakhand

“T I @’ g T 9 gafag ¥ 7
(1) sRarom (2) fEamEE gaer

(4) ST

(4) Punjab

(3) SHAETS

73. Who wrote the famous song "Ay Mere Watan ke Logo" ?

(1) Neeraj (2) Kaifi Azmi

(3) Majruh Sultanpuri (4) Pradeep
e M ‘T W gad & i’ e er & 2
(1) s==1 (2) B ST

(3) AT&E gyl 4) g9

74. One of the following is not a function of Reserve Bank of India :

(1) Issuing Currency Notes
(2) Formulating Monetary Policy

(3) Exercising Control over all Banks in India

(4) Lending Money to Exporters

TYMOBA-EE-2022/ (SET-Y)/(B)
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P & & o sl Rt 8 = ard 7t % -

(1) GAT e S8 e

(2) NixFH N =77y

(3) 9T % T FH o PrgEer v
(4) Trataent & Far sar 2

75. Which among the following is the full form of FDI in Indian Economics ?

(1) Foreign Depository Investors

(2) Foreigq Departmental Investors

(3) Foreign Direct Investment

(4) Foreign Development Investment

Frfefed & 8 9 stefemer & awo o o H1 gt wT FT B 7
(1) BRe ARl s=wd

(2) BR7 RueAeq =y

(3) BRA ST FAEHe

(4) BRA STATHT T

Quantitative Techniques and Data Interpretation (Q. No. 76-100).

Directions (76-77) : What will come in the place of question mark (?) in the following
number series.

76. 3,43, 81,115, 143,?
(1) 160 (2) 172
3) 166 ' 4) 163
77. 50, 54, 45, 61, 36, ?
(1) 66 | 2) 72
(3) 75 (4) 80

TYMOBA-EE-2022/ (SET-Y)/(B) (Y- TN "P.T.O.
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78. If the sum of upstream an

Directions (79-82) : Calculate the exa

79.

80.

81.

82.

83.

o AT
e
P

am speed is 36 km/hr and the speed of the CUrren{‘f“-

wnstre
ace ver 52.5 km in downward ?

is 3 km/hr. Then find time taken to €O
(1) 2 hr

(3) 2.5hr

(2) 3hr
(4) 3.5 hr

i i i estions.
ct value of the x'1n the given following qu

6)( 16)(5 -:—3_x2=96

(1) 9 @) 7
3) 8 @6
282 —x* =73 +225

W4 55
3) 6 (4) 7
298~ 132-23 =x x 11

(1) 51 @) 21
(3) 4 | | @ 11
1836 +x+9=12

O @) 17
R @ 11

The difference between Circumference of circle A and diameter is 90 cm. If Radius of

Circle Bis 7 cm less than circle A, then find area of Circle B 9
(1) 532 cm’ @) 556 em?
(3) 588 cm’ @ 616 e

TYMOBA-EE-2022/ (SET-Y)/(B)
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“There are 40 children in a class in which boys are 4 more than the girls. Average

weight of all the students is 42.5 kg and the average weight of all the girls is 48 ke,
then find the average weight of all the boys.

(1) 36.75 kg
(3) 40.5kg

(2) 38 kg
(4) 39.5kg

85.

If 7 marks are awarded to right answer and 4 marks are penalty for wrong answer.

Then Rajinder's score was 263. If he attempted 58 questions, then find number of
correctly attempted questions ?

(1) 40 (2) 42 (3) 48 4) 45

86. Ratio of speed of boat in down stream and speed of stream is 9 : 1, if speed of current is

3 km per hr, then find distance travelled (in km) upstream in 5 hours.
(1) 90 (2) 105 (3) 110 4) 120

Directions (87-90) : Given below is the table that shows the number of books sold from five
stores on five days. Study the table carefully to answer the questions.

Stores Sunday Monday Tuesday Wednesday Thursdayj o
~A, 77 80 49 93 \ 58 J

B 89 57 55 85 | \ 54 \

C 56 36 82 90 \ 40 J

D 68 74 78 70 \ 95 \

E 82 65 90 86 \ ’4 \

~ 87. Number of books sold on Friday from stores C and D increased by 15% and 20%

respectively as compared to that sold on previous day. What number of books the
stores C & D sold on Friday ?

(1) 162 - (2) 158
(3) 150 (4) 160

- TYMOBA-EE-2022/ (SET-Y)/(B) P.T.O.
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D on Sunday, Monday apg

F books sold fi store
. i books sold from sto n ‘
88. What is the ratio of total number of £ on Tucsday. Wednesday and Thursday

Tuesday together to that sold from store

together.
(1) 13:11 (2) 11:15
(3) 13:15 (4) 11:13

89. Find the difference in total number of books sold from stores € and E together on
Tuesday and from store B on Monday and Thursday together.

(1) 59 ) 61

3) 65 (4) 60

90. What is the average number of books sold from stores B on Sunday' C on Tuesday and

E on Thursday ?

(1) 82 (2) 80 (3) 85 (+) 88
Directions (91-95) : Study the table given below and answer the following Questions :
- Company Total employee Employee in HR 2% of female in HR
department department

A 300 : 80 75

B 250 50 80
C 400 100 60
D 200 60 60

91. The sum of four times of an amount x’ and (x — 9.75) is Rs. 442. Find the approximate

value of x.
(1) Rs. 85 - (2) Rs. 90
(3) Rs. 100 (4) Rs. 1,100

92. Find the average number of Females in HR department together.
(1) 54 (2) 46
3) 49 4) 50
TYMOBA-EE-2022/ (SET-Y)/(B)
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Find the difference ‘between males of HR dept. in company C and D together and
females of HR dept. in company B and C together
(1) 36 | | 7 ) 42
(3) 48 (4) 40
Females in the HR department of company C is what % more than male in HR
department of company A ?

(1) 250% (2) 200%

(3) 100% - (4) 300%

Find the average no. of employee other than HR. dept. in A, B and C together.
(1) 280 (2) 270

- (3) 220 (4) 240

A started a business by investing Rs. 50,000. After 6 months B joined him by investing
Rs. 75,000. After another 6 months C joined with Rs. 1,25,000. What is the ratio of
profit shared after 2 years among A, B and C ?

(1) 4:5:6 (2) 8:9:12
(3) 8:9:10 (4) None of these

A invests Rs. 12,000 for X months while B invests Rs. 16,000 for 9 months in a
scheme. The profit share of B is Rs. 12,000 out of total profit Rs. 21,000. Then find the

value of X ?
(1) 6 months (2) 7 months
(3) 8 months (4) 9 months

The simple interest on a certain sum for 2 years at 8% per annum is Rs. 225 less them

‘the compound interest on the same sum for 2 years at 10% per annum. The sum is:

(1) Rs. 4,500 (2) Rs. 4,200
(3) Rs. 4,000 a (4) Rs. 3,200

TYMOBA-EE-zozzl (SET-Y)/(B) | ST N R R PO
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99. A person can row with the stream at 8 km p

100.

er hour and against the stream at 6 km an

hour. The speed of the current is :
(1) 4 km/h
(3) 1km/h

A sum is invested for 3 years at compou
In three years, if the sum amounts to Rs. 16,632, then

(2) Rs. 12, 000
(4) None of these

(2) 2 km/h

(4) None of these
10% and 20% respectively.

nd interest at 3 %,
find the sum :

(1) Rs. 13,000
(3) Rs. 11,000

TYMOBA-EE-2022/ (SET-Y)/(B)




Total No. of Printed Pages : 21

(DO NOT OPEN THIS QUESTION BOOKLET BEFORE TIME OR UNTIL YOU
ARE ASKED TO DO SO)
SET-Y

C TYMOBA-EE-2022
(MBA Two Year) 115%9

Sr.NO.
Time : 1% Hours Max. Marks : 100 Total Questions : 100
Roll No. (in figures) (in words)
Name Father's Name
Mother's Name " Date of Examination
(Signature of the Candidate) (Signature of the Invigilator)

CANDIDATES MUST READ THE FOLLOWING INFORMATION/INSTRUCTIONS BEFORE
STARTING THE QUESTION PAPER.

1. All questions are compulsory.

2. The candidates must return the question booklet as well as OMR Answer-Sheet to the Invigilator
concerned before leaving the Examination Hall, failing which a case of use of unfair-
means / mis-behaviour will be registered against him/ her, in addition to lodging of an FIR with the
police. Further the answer-sheet of such a candidate will not be evaluated.

3. Keeping in view the transparency of the examination system, carbonless OMR Sheet is provided to
the candidate so that a copy of OMR Sheet may be kept by the candidate.

4. Question Booklet along with answer key of all the A, B, C & D code will be got uploaded on the
University website after the conduct of Entrance Examination. In case there is any discrepancy in the
Question Booklet/Answer Key, the same may be brought to the notice of the Controller of
Examinations in writing/through E.Mail within 24 hours of uploading the same on the University
Website. Thereafter, no complaint in any case, will be considered.

5. The candidate must not do any rough work or writing in the OMR Answer-Sheet. Rough work, if any,
may be done in the question booklet itself. Answers must not be ticked in the question booklet.

6. There will be no negative marking. Each correct answer will be awarded one full mark.
Cutting, erasing, overwriting and more than one answer in OMR Answer-Sheet will be treated
as incorrect answer.

7. Use only Black or Blue Ball Point Pen of good quality in the OMR Answer-Sheet.

8. Before answering the questions, the candidates should ensure that they have been supplied correct
and .complete booklet. Complaints, if any, regarding misprinting etc. will not be entertained 30
minutes after starting of the examination. ‘

TYMOBA-EE-2022/(MBA Two Year)-(SET-Y)/(C)

G



1

1. The Parliamentary system of Government of India is based on the vm:os\ of
Parliamentary Government in :

(1) Great Britain (2) USA

(3) France (4) Canada

WA AR H GO Faeq 36 397 & g9y ol 9% onaia ® -
(1) ¥ =

(2) o TWHo UWo
(3) W™ (4) &=t
2. Which company has launched 'Aashirvad' brand of ready-to-eat meals ?
(1) Britannia (2) Nestle
(3) HLL (4) ITC Foods
e 3o 7 @™ 3 fm WOR ggg @t @ s ‘onshaie’ @i e 7
(1) forerfera ) IR
(@) @ @ (4) o & & gg|
3. Apart from Urdu, in which another language has Mirza Ghalib written poetry ?
(1) Bengali , (2) Persian
(3) Hindi (4) Kashmiri
Pt i ¥ 9 & oreman o Few T ¥ A R & 2
(1) st (2) wrEE
3) & (4)

4. What was the original name of Tansen ?
(1) Seetaraam Mishra (2) Gopal Sharma
(3) Ramtanu Pandey
TAAT 1 arEafas a9 w/ar or ?
(1) S fera (2) M st

(3) I vS (4) sIT=ma farsm
TYMOBA-EE-2022/ (SET-Y)/(C)
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5. The famous antiseptic 'Dettol' is a brand owned by :

(1) Reckitt Benkeiser (2) Godrej Sara Lee
(3) Procter and Gamble (4) Hindustan Unilevero earth
uis dfedifess s 3 fre Fo @ B 7
(1) e FHax (2) MeXS qra &t
(3) T T3 e (4) Rege ghefad
6. The layer of atmosphere close to earth's surface is known as :
(1) Stratosphere (2) Troposphere
(3) Ionosphere (4) Exosphere
JIAEICT FH g FH FaE B b RAT T8 P FBT ACH ©
(1) gHamassT (2) &S
(3) SmETHSA (4) sfedsa
7. What was the name of Gautama Buddha, As prince of Kapilavastu ?
(1) Devadatta (2) Ananda
(3) Rahula (4) Siddhartha
FTaE] & AT & 9 H NIH a9 & 397 A9 o7 ?
(1) ¥ge= (2) oTT
(3) T (4) Rgard
8. Who is the Executive head of a State ?
(1) The Governor (2) The Chief Minister
(3) The President (4) The Speaker
TF TG H HEGR T@ B Bl & 7
(1) Taae (2) FerE
(3) rsgafey (4) areme

TYMOBA-EE-2022/ (SET-Y)/(C)



9. Indian Railways is divided into how many zones ?

(1) 14
3) 12

) 16
(4) 18

AT Y fhaw &=t ¥ der gan ¥ 7

(1) 14
(3) 12

2) 16
@) 18

10. In India the first television programme was broadcast in :

(1) 1959
3) 1976

(2) 1965
(4) 1957

qR & Jeel TcitaeT Hrdshd THIRG e

(1) 1959 &
(3) 1976 #

11. The creator of 'Sherlock Holmes' was :

(1) Arthur Canan Doyle

(3) Dr. Watson

‘ot B’ & a9
(1) emelR = S

(3) Sfo gEad

(2) 1965 &
4) 1957 &

(2) Ian Fleming
(4) Shakespeare

(2) 39E wAFHT
(4) IR

12. 'Bihu’' dance is associated with which State ?

(1) Asam

(3) Nagaland

‘g’ 7 fpe W9 @ defta B 7
(1) smar

(3) ATTIS

TYMOBA-EE-2022/ (SET-Y)/(C)
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(4) Orissa

(2) feumae w_r
(4) ISrEr
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13. Who built the city of Chandigarh ? 17. Hot
(1) Martin Luther (2) Le Courbusier (1)
(3) Herbart Backer (4) Henri [rwin G)
o¥rTe 8T fFER g a1 ? b
(1) 7R e () & @ !
(3) T AT (@) ¥Th TR (
14. "Din-I-Ilahi" was the new religion started by : 18. ¥
(1) Jahangir (2) Babur (
(3) Akbar (4) Shaha Jahan *
‘-u-gemd’ ™ T4 9 Rray e ?
(1) ST (2) "R
(3) T (4) smETEl
15. Which is the largest gland in the human body ? 19.
(1) Pancreas (2) Liver
(3) Spleen (4) Intestine
Mg T § @Ed g Ay e e R 7
(1) Yerars (2) forr
(3) foeeh (4) it
16.  What is the sacred language of the Buddhists ?
(1) Bhoti (2) Prakrit 29
(3) Sanskrit (4) Pali
At & ofam s e ¥ 7
(1) (2) e
(3) wepa (4 fer

_TYMOBA-EE-ZOH/ (SET-Y)/(C) TY



17. How many chromosomes does a normal human being have ?

(1) 48 (2) 52
(3) 46 (4) 32
TP W AT H RRE e e ¥ 7
(1) 48 (2) 52
(3) 46 | (4) 32

18. Who composed the tune to "Twinkle, Twinkle, Little Star" ?
(1) Mozart (2) Beethoven
(3) A.R. Rehman (4) Pink Floyd
‘Tpa e foafew =R’ Na ot e hiaes fear ?
(1) A (2) feream
(3) To Ao wTHH (4) W= witgs

19. What was the first 3-D colour movie ?
(1) The Last Buffalo (2) Imagine
(3) Bwana Devil (4) Wings of Courage
Teelt 3-D T Reew A-dr o ?
(1) & dree qhel (2) gAfm
(3) = 3faw (4) e ol Hw

20. What is the motto of BBC ?
(1) 'National shall speak peace unto nation'
(2) 'State shall speak peace on to State'
(3) 'We speak nation to nation'

(4) None of these

TYMOBA-EE-2022/ (SET-Y)/(C) P.T.O.



St W oomest At T ¥ 7
() Qe A0 & g sig A
2) Ve i o 99 ol g _
3) ‘A & A= T AI

4) % § g 7@

21. By which name is river Ganga known in Bangladesh ?
(1) Padma (2) Sambha
(3) Ganga (4) Alaknanda

T Y B SRy ¥ fFE A & S o ® 2

(1) 95 (2) |7

(3) T (4) STAR=aT
22. Name the state to which "The Great Khali" belongs to ?

(1) Haryana (2) Himachal Pradesh

(3) Uttrakhand (4) Punjab
“q AT el TR T @ wrEfag  ?

(1) efEmon 2) femree war
(3) ST@vE (4) 99T

23. Who wrote the famous song "Ay Mere Watan ke Logo" ?

(1) Neeraj (2) Kaifi Azmi
(3) Majruh Sultanpuri (4) Pradeep
AT M Y A g B A e R 2
(1) =t (2) el s
(3) woTEE geTTga (4) Wrg

TYMOBA-EE-2022/ (SET-Y)/(C)



24. One of the following is #of a function of Reserve Bank of India :
(1) Issuing Currency Notes
(2) Formulating Monetary Policy
(3) Exercising Control over all Banks in India
(4) Lending Money to Exporters
Frfefed & 8 o =i Rod 35 a0 a1t 78 2 -
(1) g&1 T S8 FHE
2) Az AT s==T
(3) 9RA & | TRt ) Frgsor v
(4) Fratast & ¥q7 I 3

25. Which among the following is the full form of FDI in Indian Economics ?

(1) Foreign Depository Investors
(2) Foreign Departmental Investors
(3) Foreign Direct Investment

(4) Foreign Development Investment

Frfafaa & @ s sEdeme § Tho Sio TEo &1 ot w9 w8 ?
(1) BRA fTaRed s<wd
(2) BRA feurdded zaed
(3) BRA S Fawehe
(4) BRY JgagHe FAEHT

26. Two propositions are related in such a way that these cannot be true together or false
together, these arc known as :

(1) Contraries

(2) Sub-contraries

(3) Contradictories
(4) Sub-alternations

TYMOBA-EE-2022/ (SET-Y)/(C) P.T. O.



27.

28.

30.

31.

t

If the proposition 'All Mangoes are vegetable' is false, then which of the folloyg,
Propositions must pe ture ? |

(1) No mango is vegetabje (2) Some mangoes are vegetable

(3) All vegetables are mango (4) Some mangoes are not vegetable
Out of the followin

8 statements, two are related in such a way that, these can be tp,
together but cannot

be false together. The statements are :

(1) Men are never attentive (i) All men are attentive

(iii) Some men are attentive (iv) Some men are not eattentive
Select the correct code :

(1) (3) and (ii)
(3) (ii) and (i)

(2) (i) and (iii)

(4) (iii) and (iv)

Aruna ranks twelfth in a class of forty six. What will be her rank from the last ?
(1) 33 () 34

(3) 35 4) 37

Select the correct conclusion for the given premises

Premises :

(i) All religious persons are emotional
(ii) Ram is a religious person
Conclusion :

(1) Ram is emotional (2) All emotional persons are religious
(3) Ram is not a non-religious person

(4) Some religions persons are not emotional

B is to the east of C, A is to be north of C, D is to the west of C and E is to the west of
A. Where is E with respect to D ?

(1) North | (2) North-West
(3) North-East (4) Cannot be determined

TYMOBA-EE-2022/ (SET-Y)/(C)



32.

33.

34.

35.

36.

37.

38.

M is married to S. P is a brother of H. S is a mother of L, who is a brother of H. How is
H related to M ?

(1) Sister
(3) Son

(2) Brother

(4) Cannot be determined

Horizontally arranged elements in a matrix is called :
(1) Columns . (2). Rows

(3) Determinants (4) Transpose

If A is a matrix of order (m-by-n) then a matrix (n-by-m) obtained by mterchangmg
rows and columns of A is called the :

(1) Additive invesrse of A (2) Transpose of A

(3) Determinant of A (4) Order of A

What will come next ?

8, 20, 36, 56, .......

(1) 80 (2) 100 (3) 64 (4) 84
What will come néxt ?

11,33,55,77, ..........

(1) 99 (2) 88 (3) 121 4) 101

Seven friends O, P, Q, R, S, T and U are watching a movie sitting in a row. § is sitting
at one extreme end. Q is sitting second to the right of S. P is sitting between O and Q.

U is not sitting at any extreme end. O is not at any extreme end. R is sitting 1mmed1ate
left of T. Who is sitting in the middle ?

(DR 2 Q
(3) P 4) U
Find the odd letters/word from the given alternatives :
(1) Swimming (2) Sailing
(3) Diving (4) Driving

TYMOBA-EE-2022/ (SET-Y)/(C) | P.T.O.
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39.

40.

41.

42.

45.

Find the odd letters/word from the given alternative .
(1) Discernment (2) Perception

(3) Penetration (4) Insinuation

Find the odd number from the given alternative :

(1) 5720 (2) 6710 (3) 2640 (4) 4270

Matrix is :

(1) A real number

(2) Either a real or a complex number

(3) An arrangement of mn numbers, over the given set S, in a rectangular array of m
rows and n Columns

(4) Same as determinant

Sequencing is a subset of " :

(1) Routing (2) Scheduling (3) Expediting (4) None of these

If Paisa : Rupee : : ? : Kilometer

(I) Mete ~ (2) Hectometre  (3) Quintal (4) Decametre

Select the option that is related to the third term in the same way as the second term is
related to the first term.

Singapore : SIMBEX :: France : ?

(1) VARUNA (2) INDRA (3) KONKAN (4) SLINEX

Without any other assumptions and based only on the information below, assess the
true nature of the relationship between both Event A and Event B.

Event A : Sara went to meet her parents at her friend Puneet's house.
Event B : Puneet's parents had been running ill for a long time.

(1) Event A is the effect and event B is the immediate and major cause.
(2) Event B is the effect and event A is the immediate and major cause.
(3) Event A is the effect and event B is not immediate and major cause.

(4) Event B is the effect and event A is not the immediate and major cause.

TYMOBA-EE-2022/ (SET-Y)/(C)




46.

47.

48.

49.

50.

11

Kitty is the wife of Raman. Dev is the only brother of Kitty. If Dolly is the daughter of

Kitty, how is Dev related to Dolly ?

(1) Father (2) Maternal Uncle
(3) Paternal Uncle (4) Grandfather

It X has two sister - Y and Z, and W's mother is the sister of Y's father, then W is 7's ?
(1) Sister (2) Aunt

(3) Cousin (4) Brother

Which one does not belong to the group ?

(1) Salt (2) Black pepper
(3) Chilli _ (4) lJira

Find the odd number/letters from the given alternatives :
(1) PQXZ (2) CQBN
(3) ABDF _ (4) PRMN

In a certain code language '"KEYBOARD' is written as FMGADQCT". How will be
"TOUCHPAD' written in that code language ?

(1) FUQEBSIR (2) FVQWEJSB
(3) FVQWEJRC | (4) FVQWEJBS

Quantitative Techniques and Data Interpretation (Q. No. 51-75).

Directions (51-52) : What will come in the place of question mark (?) in the following
number series.

51.

TYMOBA-EE-2022/ (SET-Y)/(C)
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52,

53.

54.

95.

56.

57.

58.

ﬁ

c
50, 54, 45, 61, 36, 7
(1) 66 Q@) 72
3) 75 ) 80

If the sum of upstream and d
is 3 km/hr. Then find time

(1) 2hr
(3) 25hr

ownstream speed is 36 km/hr and the speed of the current
taken to cover 52.5 km in downward ?

(2) 3hr

6x16x5 +3_xr=9¢

(19 ) 7

(3) 8 @) 6

282 —x’ =73 + 225

(1) 4 ) 8

() 6 4) 7

298 -132-23=xx 11

(1) 51 . (2) 21

(3) 41 4) 11

1836 +x+9=12

()9 () 17

(3) 13 . 4) 11

The difference between Circumference of circle A and diameter is 90 cm. If Radius of
Circle B is 7 cm less than circle A, then find area of Circle B ?
(1) 532 cm? (2) 556 cm’

(3) 588 cm’ (4) 616 cm’

TYMOBA-EE-2022/ (SET-Y)/(C)
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59. There are 40 children in a class in which boys are 4 more than the girls. Average

weight of all the students is 42.5 kg and the average weight of all the girls is 48 kg,
then find the average weight of all the boys.

(1) 36.75 kg (2) 38 kg (3) 40.5 kg (4) 39.5 kg

60. If 7 marks arc awarded to right answer and 4 marks arc penalty for wrong answer.

Then Rajinder's score was 263. If he attempted 58 questions, then find number of
correctly attempted questions ?

(1) 40 (2) 42 (3) 48 (4) 45
61. Ratio of speed of boat in down stream and speed of stream is 9 : 1, if speed of current is
3 km per hr, then find distance travelled (in km) upstream in 5 hours.
(1) 90 (2) 105
(3) 110 (4) 120

Directions (62-65) : Given below is the table that shows the number of books sold from five
stores on five days. Study the table carefully to answer the questions.

Stores Sunday Monday Tuesday Wednesday | Thursday
A 77 80 49 93 58
B 89 57 55 85 54
C 56 36 82 90 40
D 68 74 78 70 95
E 82 65 90 86 84

62. Number of books sold on Friday from stores C and D increased by 15% and 20%

respectively as compared to that sold on previous day. What number of books the
stores C & D sold on Friday ?

(1) 162 (2) 158
(3) 150 (4) 160

TYMOBA-EE-2022/ (SET-Y)/(C) P.T.O.
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63,

64.

0

' i Sundny, Mondiy gy,

. , her vl 7::_1 nold from alon 1 ~ L1 |

the tatio ot f;:_ NUNber \ __:::_:4 $:..__:::_.: T :__:._.Z
(Al '

"
W

What i |
Tuesday topether (o that sold from store
topether,

(AR RN (M Lds

(M 13as ¢ e

Find the difterence i total mumber of books sold from storen U and 1 topether o
Tuesday and rom store B on Monday and Thursday topether,

(1) 89 (1) ol

(3) 65 () 60

f \ A\l /
What is the avernge number of hooks sold rom stores 18 on Sunday, € on e ndny and
1 on Thuesday ?

(1 82 () RO
(3) 88 (1) 8RR
Directions (66-70) : Study the table given below and answer the following Quostions
Company Total employee Faployeoe in TR ool temale in TIR
depurtiment dopartment
A 300 R0 5
B 250 50 KO
¢ 400 100 (0
(D) 200 00 00

67.

Uhe sum of four times of an amount v and (y

V75) s Ry, 442, Find the approximate
value of v,

(1) Rs. RS (2) Rs. 90 (H Rso 100 h Ry 1,100

Find the average number of Females in LR department topether,
(1 54 () o

(3) 49 ¢ S0

TYMOBA-EE-2022/ (SET-Y)/(C)
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68. Find the difference between males of HR dept. in company C and D together and
females of HR dept. in company B and C together.

(1) 36 () 42
(3) 48 (4) 40
69. Females in the HR department of company C is what % more than male in HR
department of company A ?
(1) 250% (2) 200%
(3) 100% (4) 300%
70. Find the average no. of employee other than HR dept. in A, B and C together.
(1) 280 (2) 270
(3) 220 (4) 240

71. A started a business by investing Rs. 50,000. After 6 months B joined him by investing
Rs. 75,000. After another 6 months C joined with Rs. 1,25,000. What is the ratio of
profit shared after 2 years among A, B and C ?

(1) 4:5:6
2) 8:9:12
(3)8:9:10
(4) None of these

72. A invests Rs. 12,000 for X months while B invests Rs. 16,000 for 9 months in a
scheme. The profit share of B is Rs. 12,000 out of total profit Rs. 21,000. Then find the

value of X ?
(1) 6 months (2) 7 months
(3) 8 months (4) 9 months

73. The simple interest on a certain sum for 2 years at 8% per annum is Rs. 225 less them
the compound interest on the same sum for 2 years at 10% per annum. The sum is:

(1) Rs. 4,500 (2) Rs. 4,200
(3) Rs. 4,000 (4) Rs. 3,200

TYMOBA-EE-2022/ (SET-Y)/(C) P.T.O.
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74.

75.

76.

78.

79.

c

A person can row with the stream at 8 km per hour and against the stream at 6 km an 8
hour. The speed of the current is :
(1) 4 km/h (2) 2 km/h

(3) 1 km/h (4) None of these

A sum is invested for 3 years at compound interest at 5%, 10% and 20% respectively.
In three years, if the sum amounts to Rs. 16,632, then find the sum :

(1) Rs. 13,000 (2) Rs. 12,000

(3) Rs. 11,000 (4) None of these

2 ) agreement no one in the group talked about the controversial subject of
the war

(1) taciturn (2) tangential

(3) tenuous (4) tacit

After eating our lunch, we all lay .............. on the ground, looking at clouds.

(1) prone (2) supine

(3) stupefied (4) stultified

.............. law can be used either to tyrannize the populace, denying them liberty, or
to protect their rights, enabling them to live as free citizens expressing their views and
doing as they wish.

(1) Purportedly (2) Paradoxically
(3) Enigmatically (4) Felicitously

Countries with strong elements of communism have existed in history, but modern
communism formed in response to the rise of capitalism and industrialization, which
created a new class of people living and working in .............. poverty of a type
.............. in history.

(1) demotic, tangential
(2) complaisant, problematic
(3) abject, unprecedented

(4) nascent, sardonic

TYMOBA-EE-2022/ (SET-Y)/(C)
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80. In Africa, the European colonial powers often imposed borders .............. and so
when colonies later achieved autonomy, they found themselves to be nations that were

.............. and thus difficult to govem due to .............. disputes.
(1) warily, defunct, international

(2) arbitrarily, heterogeneous, internecine

(3) equably, democratic, mundane

(4) ephemerally, indispensable, nugatory

81. I'm going to ask for directions because I think we've .............. our way.

(1) missed (2) mistaken

(3) misplaced (4) lost

82. My brotherandI.............. swimming almost every day last summer.

(1) went (2) had been going
(3) were going (4) had gone

83. Thereis.............. coffee left, if anyone wants some.
(1) few (2) alittle
(3) afew (4) little

84. Theissue .............. question is more complex than you think.
(1) from (2) in
(3) on 4) at

Choose the one which best expresses the meaning of the given word.

85. Youmust.............. thrilled when the doctor said it wasn't serious.
(1) be (2) have been
(3) be having (4) have been being
86. Nobody has any firm information, so we can only .............. on what caused the
accident.
(1) guess (2) speculate
(3) assume

(4) contemplate
TYMOBA-EE-2022/ (SET-Y)/(C) " P.T.O.
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87.

89.

90.

91.

92.

Where's that .............. dress that your grandma gave you.
(1) lovely, long, pink, silk
(2) lovely, pink, long, silk
(3) pink, long, lovely, silk
(4) long, pink, silk, lovely

It is one of the worst books ['ve ever read. Its only redeeming .............. is that it is
quite short.

(1) aspect (2) factor

(3) feature (4) element

The competitive ethic is pernicious .............. one's moral development.

(1) to (2) for

(3) in ‘ (4) with

When she first came to France from Bulgaria, she was hardly the .............. student

she later made herself out to be, since she had access to considerable family wealth.

(1) impecunious (2) naive
(3) precocious (4) ambitious
Britain is attractive to worldwide advertisers because it is .............. market, so there

is no need to tailor advertisements for different parts of the country.
(1) aglobal (2) an immense

(3) a homogeneous (4) avast

After people began to make the transition from gathering food to producing food,
human societies followed markedly .............. courses; some adopted herding, others
took to tillage and still others stuck to foraging.

(1) divergent (2) rural

(3) quotidian (4) unfamiliar
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93. Like ants, termites have an elaborate social structure in which a few individuals
reproduce and the rest are serving the colony by tending juveniles, gathering food,
building the nest. they battle intruders.

(1) are serving the colony in the they tend juveniles, gather food, build the nest, or
battle

(2) serve the colony, tending juveniles, gathering food, building the nest, or by
battling,

(3) serve the colony by tending juveniles, gathering food, building the nest, or battling

(4) serve the colony by tending juveniles, gathering food, by building the nest, or by
battling

94. NIA panel Propose expanding a national computerized file to permit law-

enforcement agencies to track people under criminal investigation but have not been
charged.

(1) who are under criminal investigation but
(2) who are under criminal investigation, but they
(3) under criminal investigation, but who

(4) under criminal investigation, but they
95. Decrepit
(1) annoyed (2) frail
(3) bright (4) wasteful
96. Insouciance |
(1) damage (2) remorse

(3) indifference (4) furlough

Choose the one which is opposite in meaning to the given word.

97. Scrawny
(1) emaciated (2) effervescent
(3) lanky (4) trickster

P.T. O.
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100.

Vapid

(1) frantic (2) harsh

(3) historical (4) fresh

Because Paris is expensive, many organisations pay higher salaries to

the high cost of living there.

(1) redress (2) adjust

(3) compensate (4) None

Although he was very bad-tempered, .............. everybody liked him.
(1) before (2) but

(3) so (4) None

TYMOBA-EE-2022/ (SET-Y)/(C)

--------------



Total No. of Printed Pages : 21
(DO NOT OPEN THIS QUESTION BOOKLET BEFORE TIME OR UNTIL YOU

ARE ASKED TO DO SO)
D TYMOBA-EE-2022 SET-Y |
(MBA Two Year) 11576

8r, NO. ......onuaiviimioie
Time : 1% Hours Max. Marks : 100 Total Questions : 100
Roll No. (in figures) (in words)
Name > Father's Name
Mother's Name Date of Examination
(Signature of the Candidate) ' (Signature of the Invigilator)

CANDIDATES MUST READ THE FOLLOWING INFORMATION/INSTRUCTIONS BEFORE
STARTING THE QUESTION PAPER.

1. All questions are compulsory.

2. The candidates must return the question booklet as well as-OMR Answer-Sheet to the Invigilator
concerned before leaving the Examination Hall, failing which a case of use of unfair-
means / mis-behaviour will be registered against him/ her, in addition to lodging of an FIR with the

police. Further the answer-sheet of such a candidate will not be evaluated.

3. Keeping in view the transparency of the examination system, carbonless OMR Sheet is provided to
the candidate so that a copy of OMR Sheet may be kept by the candidate.

4. Question Booklet along with answer key of all the A, B, C & D code will be got uploaded on the
University website after the conduct of Entrance Examination. In case there is any discrepancy in the
Question BookleVAnswer Key, the same may be brought to the notice of the Controller of
Examinations in writing/through E.Mail within 24 hours of uploading the same on the University
Website. Thereafter, no complaint in any case, will be considered.

5. The candidate must not do any rough wark or writing in the OMR Answer-Sheet. Rough work, if any,
may be done in the question booklet itself. Answers must not be ticked in the question booklet.

6. There will be no negative marking. Each correct answer will be awarded one full mark.
Cutting, erasing, overwriting and more than one answer in OMR Answer-Sheet will be treated

as incorrect answer.
7. Use only Black or Blue Ball Point Pen of good quality in the OMR Answer-Sheet.

8. Before answering the questions, the candidates should ensure that they have been supplied correct
and complete booklet. Complaints, if any, regarding misprinting etc. will not be entertained 30
minutes after starting of the examination.

TYMOBA-EE-2022/(MBA Two Year)-(SET-Y)/(D)

SI:AL



Total No. of Printed Pages : 21

(DO NOT OPEN THIS QUESTION BOOKLET BEFORE TIME OR UNTIL YOU
ARE ASKED TO DO SO
) SET-Y

D " TYMOBA-EE-2022
(MBA Two Year) | 11576

SE.NO. oo
Time : 1% Hours Max. Marks : 100 Total Questions : 100
Roll No. (in figures) (in words)
Name > Father's Name
Mother's Name , ' Date of Examination

(Signature of the Candidate) (Signature of the Invigilator)

CANDIDATES MUST READ THE FOLLOWING INFORMATION/INSTRUCTIONS BEFORE.
STARTING THE QUESTION PAPER.

1. All questions are compulsory.

2. The candidates must return the question booklet as well as -OMR Answer~Sheet to the Invigilator
concerned before leaving the Examination Hall, failing which a case of use of unfair-
means / mis-behaviour will be registered against him/ her, in addition to lodging of an FIR with the

police. Further the answer-sheet of such a candidate will not be evaluated.

3. Keeping in view the transparency of the examination system, carbonless OMR Sheet is provided to
the candidate so that a copy of OMR Sheet may be kept by the candidate.

4. Question Booklet along with answer key of all the A, B, C & D code will be got uploaded on the
University website after the conduct of Entrance Examination. In case there is any discrepancy in the

Question Booklet/Answer Key, the same may be brought to the notice of the Controller of
Examinations in writing/through E.Mail within 24 hours of uploading the same on the University

Website. Thereafter, no complaint in any case, will be considered.

5. The candidate must not do any rough work or writing in the OMR Answer-Sheet. Rough work, if any,
may be done in the question booklet itself. Answers must not be ticked in the question booklet.

6. There will be no negative marking. Each correct answer will be awarded one full mark.

Cutting, erasing, overwriting and more than one answer in OMR Answer-Sheet will be treated

as incorrect answer. ‘
7. Use only Black or Blue Ball Point Pen of good quality in the OMR Answer-Sheet.

8. Before answering the questions, the. candidates should ensure that they have been supplied correct
and complete booklet. Complaints, if any, regarding misprinting etc. will not be entertained 30
minutes after starting of the examination.

TYMOBA-EE-2022/(MBA Two Year)-(SET-Y)/(D)

i Al



Quauntitative Tochniques and Duta Interprotation (). No, 1-25).

Directlons (1-2) : What will come In the place of question  mark (7) in the following

number series.

1. 3,43,81,115,143,°
(1) 160
(3) 166

2. 50,54,45,61, 36,7
(1) 66
3) 75

(2) 172
(4) 163

(2) 72
(4) 80

3. If the sum of upstream and downstream speed is 36 km/hr and the speed of the current

is 3 km/hr. Then find time taken to cover 52.5 km in downward ?
(2) 3 hr
(4) 3.5 hr

(1) 2hr
(3) 2.5hr

Directions (4-7) : Calculate the exact value of the ¢’ in the given following questions.

4 6x16x5 +3-x" =96

(19
(3) 8

5. 282 -x'=73+225
(1) 4
(3) 6

6. 298-132-23=xx1l
(1) 51
(3) 41

TYMOBA-EE-2022/ (SET-Y)/(D)

(2) 7
4) 6

(2) 8

4) 7

(2) 21
(4) 11
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7. 1836+x+9=12
1) 9 ) 17

(3) 13 4) 11

8. The difference between Circumference of circle A and diameter is 90 cm. If Radius of

Circle B is 7 cm less than circle A, then find arca of Circle B ?

(1) 532 cm’ (2) 556 cm’

(3) 588 cm’ (4) 616 cm’

9. There are 40 children in a class in which boys are 4 more than the girls. Average
weight of all the students is 42.5 kg and the average weight of all the girls is 48 kg,
then find the average weight of all the boys.

(1) 36.75 kg (2) 38 kg

(3) 40.5 kg (4) 39.5 kg

g answer.

If 7 marks are awarded to right answer and 4 marks are penalty for wron
ber of

10.
Then Rajinder's score was 263. If he attempted 58 questions, then find num

correctly attempted questions ?

(1) 40 (2) 42

(3) 48 (4) 45

11. Ratio of speed of boat in down stream and speed of stream is 9 : 1, if speed of current is
3 km per hr, then find distance travelled (in km) upstream in 5 hours.

(1) 90 @) 105

(4) 120

(3) 110

TYMOBA-EE-2022/ (SET-Y)/(D)
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Directions (12-15) : Given below is the table that shows the number of books sold from five

stores on five days. Study the table carclully (o answer the questions.

Stores . §l~lﬂ.dﬂy ) ,M““_d“,y, 'Fllgscllly chncgday ’rhursfday ,
A | ] s | e s
B 39 57 55 85 - 54 o
C 56 36 82 90 40
D 68 74 78 70 95
E 82 65 90 86 84
12. Number of books sold on Friday from stores C and D increased by 15% and 20%

13.

14,

15.

respectively as compared to that sold on previous day. What number of books the
stores C & D sold on Friday ?

(1) 162 (2) 158
(3) 150 4) 160
What is the ratio of total number of books sold from store D on Sunday, Monday and

Tuesday together to that sold from store E on Tuesday, Wednesday and Thursday
together.

(1) 13:11 (2) 11:15

(3) 13:15 4) 11:13

Find the difference in total number of books sold from stores C and E together on
Tuesday and from store B on Monday and Thursday together.

(1) 59 (2) 61

(3) 65 (4) 60

What is the average number of books sold from stores B on Sunday, C on Tuesday and
E on Thursday ?

(1) 82 (2) 80
(3) 85 (4 88

TYMOBA-EE-2022/ (SET-Y)/(D) P.T.O.



Directions (16-20) : Study the table given helow und answer the !ul!uw,ﬂl{ Ouestions ;

Company Total employee Fmployee in 11t | Yo 0f Jermile in 1
o depariment l‘ department
A 300 #0) | /%
B 250 50) | gl
i C 400 100 )
b 200 00) i)
18.  The sum of four times of an amount x" and (x -~ 9.75) is Rs. 442 | ind the AP A Al
value of x.
(1) Rs. 85 (2) Rs. 90
(3) Rs. 100 (4) Rs, 1,100

17. Find the average number of FFemales in 1R department together
(1) 54 (2) 46
(3) 49 (4) 50

18. Find the difference between males of HR dept. in company €
females of HR dept. in company B and C together.

(1) 36 (2) 42
(3) 48 (4) 40

and 1) together and

19. Females in the HR department of company C is what % more than male 11 K
department of company A ?

(1) 250% (2) 200%
(3) 100% (4) 300%

20. Find the average no. of employee other than 1R dept.in A, BB and C together
(1) 280 (2) 270
(3) 220 (4)-240

TYMOBA-EE-2022/ (SET-Y)/(D)
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21.

22,

23.

24,

25.

A started a business by investing Rs. 50,000. After 6 months B3 joined hl'll“l by Invufmng,
Rs. 75,000. After another 6 months C joined with Rs. 1,25,000. What 18 the ratio ol

profit shared after 2 years among A, Band C?
(1) 4:5:6

(2) 8:9:12

(3) 8:9:10

(4) None of these
Rs. 16,000 for 9 months in @

A invests Rs. 12,000 for X months while B invests
ofit Rs. 21,000. Then find the

scheme. The profit share of B is Rs. 12,000 out of total pr

value of X ?

(1) 6 months (2) 7 months

(3) 8 months (4) 9 months

The simple interest on a certain sum for 2 years at 8% per annum is Rs. 225 less them
the compound interest on the same sum for 2 years at 10% per annum. The sum is:

(1) Rs. 4,500 (2) Rs. 4,200

(3) Rs. 4,000 (4) Rs. 3,200

A person can row with the stream at 8 km per hour and against the strcam at 6 km an
hour. The speed of the current is :

(1) 4 kmh (2) 2 kmvh
(3) 1 km/h (4) None of these

A sum is invested for 3 years at compound interest at 5%, 10% and 20% respectively.
In three years, if the sum amounts to Rs. 16,632, then find the sum :

(1) Rs. 13,000
(2) Rs. 12,000
(3) Rs. 11,000
(4) None of these

TYMOBA-EE-2022/ (SET-Y)/(D) P.T.O
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26. The Parliamentary system of Government of India is based on the pattern of
Parliamentary Government in :

(1) Great Britain (2) USA

(3) France (4) Canada

ARG G3hR & O AT 39 297 ) GESIT TUTe 9¥ STeiRa @
(1) I foeq (2) go THo Qo

(3) s (4) AT

27. Which company has launched 'Aashirvad' brand of ready-to-eat meals ?

(1) Britannia (2) Nestle
(3) HLL (4) ITC Foods
mm%@ﬁ%mﬁmwmmm ‘ansfaie’ e fRar ®
(1) fSretfar (2) A=r
(3) = wa (4) o & @ wgg
28. Apart from Urdu, in which another language has Mirza Ghalib written poetry ?
(1) Bengali (2) Persian
(3) Hindi

(4) Kashmiri
hﬁnﬁa%aﬁ%maﬁ?%ﬂwﬁam%@%?
(1) st (2) wreen
3) &R (4) STy

29.  What was the original name of Tansen ?

(1) Seetaraam Mishra (2) Gopal Sharma

(3) Ramtanu Pandey (4) Jagannath Mishra

Hmﬁaasralmﬁzs?mwm?
(1) darm fyeyy

(3) THAq T
TYMOBA-EE-2022/ (SET-Y)/(D)
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30.

31.

32.

33.

The famous antiseptic 'Dettol' is a brand owned by :

(1) Reckitt Benkeiser (2) Godrej Sara Lee

(3) Procter and Gamble (4) Hindustan Unilevero carth

i dfedftes s ‘WS’ 69 wu H B 7

(1) e AHET (2) MeXST |y &

(3) WiFex U8 e (4) g™ gl ot
The layer of atmosphere close to earth's surface is known as :

(1) Stratosphere (2) Troposphere

(3) lonosphere (4) Exosphere

qIAERYT & Gl H Gde B Mbe YT T8 H Her A6 &

(1) FHATHSH (2) afmmsa

(3) STFTHSH (4) afedsa

What was the name of Gautama Buddha, As prince of Kapilav'astu ?
(1) Devadatta (2) Ananda

(3) Rahula (4) Siddhartha
FHATIR] B IS B €4 7 Naq I H F41 A9 o7 7
(1) S (2) e

(3) T (4) Rogurd

Who is the Executive head of a State ?

(1) The Governor (2) The Chief Minister
(3) The President (4) The Speaker

o T T BEAEE T B A B ?

(1) gt (2) T

(3) Tt (4) oveey

TYMOBA-EE-2022/ (SET-Y)/(D)
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34. Indian Railways is divided into how many zones ?
(1) 14 ) 16
G3) 12 @) 18
W W R 8% & gy BT B ?
(1) 14 @) 16
3) 12 (4) 18
35. In India the first television programme was broadcast in :
(1) 1959 (2) 1965
(3) 1976 (4) 1957
AT e MR Fm saia g
(1) 1959 % (2) 1965 &
(3) 1976 & (4) 1957 &
36. The creator of 'Sherlock Holmes' was
(1) Arthur Canan Doyle (2) Ian Fleming
(3) Dr. Watson (4) Shakespeare
‘qieih B’ 3 Tafar & -
(1) R & SMaer (2) TH WA
(3) Sfo areEA (4) SafER
37. 'Bihu' dance is associated with which State ?
(1) Asam (2) Himachal Pradesh
(3) Nagaland (4) Orissa
‘fog’ 0 fpq =9 @ dEfya & ?
(1) mam (2) femmeet W
(3) ArTE (4) e
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38. Who built the city of Chandigarh ?

(1) Martin Luther - (2) Le Courbusier
(3) Herbart Backer (4) Henri Irwin
TN e R s=En a7 ?

(1) =fEs g O R
() &=E JHT (4) T8 RBA

39 "Din-I-Ilahi" was the new religion started by

(1) Jahangir (2) Babur

(3) Akbar | (4) Shaha Jahan
mqswawzﬁrwaﬁﬁa—aﬁaam?
(1) SEri (2) =&}

(3) T (4) SMeSTel

40. Which is the largest gland in the human body ?

(1) Pancfeas C (2).Liver
| (3) Spleen (4) Intestine

e R R e g e A A R 7

(1) Hfwarer | 2) R

(3) foslt (4) o
41. What is the sacred language of the Buddhists ?

(1) Bhoti T (2) Prakrit

(3) Sanskrit (4) Pali

gt B R = A 7

(1) A - (2) wrEa

(3) v&pd (4) rfer
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42,

43.

44,

45.

How many chromosomes does a normal human being have ?
(1) 48 (2) 52 (3) 46 (4) 32
Th WY qFe § R e e ¥ 7

(1) 48 (2) 52 ~(3) 46 (4) 32

Who composed the tune to "Twinkle, Twinkle, Little Star" ?

(1) Mozart (2) Beethoven

(3) A.R. Rehman (4) Pink Floyd
‘Tawa e ffem =R Mo 1 Reed T e ?
(1) e (2) el

(3) To HRo ®HM (4) % witas
What was the first 3-D colour movie ?

(1) The Last Buffalo (2) ‘[magine

(3) Bwana Devil (4)Wings of Courage
Telt 3D i o e o 7 |

(1) & T et (2) AR

(3) = S (4) fa 3% Hist

What is the motto of BBC ?

(1) National shall speak peace unto nation’
(2) 'State shall speak peace on to State'

(3) "We speak nation to nation'

(4) None of these

&t | o ooTRst g @ ¥ 7

(1) A I & f9 @iz Jve

(2) ‘e I e 9 o g '
(3) ‘A ®iF A3 T A3

4) ¥ 4§ #E 7

TYMOBA-EE-2022/ (SET-Y)/(D)



46. By which name is river Ganga known in Bangladesh ?

(1) Padma (2) Sambha
(3) Ganga | (4) Alaknanda
T A B ARy F R AW { ST omar 7
(1) g (2) 9T

(3) T (4) STHTET

47. Name the state to which "The Great Khali" belongs to ?

(1) Haryana (2) Himachal Pradesh
(3) Uttrakhand (4) ‘Punjab

“T ¥ @ Pra Tow A e ¥ 7

(1) &fEmm (2) fesraeT gawr

(3) SIS ORI

48. Who wrote the famous song "Ay Mere Watan ke Logo" ?

(1) Neeraj (2) Kaifi Azmi
(3) Majruh Sultanpuri (4) Pradeep

A WA R W g H arn e Rr g 7
(1) ===t (2) Her T
(3) FoTE® Feargd (4) s

49. One of the following is not a function of Reserve Bank of India :

(1) Issuing Currency Notes

(2) Formulating Monetary Policy

(3) Exercising Control over all Banks in India
(4) Lending Money to Exporters

TYMOBA-EE-2022/ (SET-Y)/(D)
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50.

51.

52,

-After eating our lunch, we all lay

ﬁ‘?’ﬁﬁf@aﬁﬁ@ﬂﬂ‘rﬁqﬁﬁéﬁwmﬂﬁ g
(1) 371 e o

(2) AfEF NRE =

() T & | FBt X Py T

(4) Fetaet @ ¥ I 3

Which among the following is the full form of FDI in Indian Economics ?

(1) Foreign Depository Investors |

(2) Foreign Departmental Investors

(3) Foreign Dirept Investment

(4) Foreign Development Investment
ﬁwﬁf@aﬁ‘amﬁmmﬁmosﬁoenﬁomwmw%?
(1) BRF REdfsed e

(2) B Rurdden gy

(3) BT TAFT g

(4) BRA 3aeaife g3

By ..coiiiin agreement no one in the group talked about the controversial subject of
the war.

(1) taciturn (2) tangential

(3) tenuous (4) tacit

.............. on the ground, looking at clouds.
(1) prone ‘ (2) Supine

(3) stupefied (4) stultified

TYMOBA-EE-2022/ (SET-Y)/(D)
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